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Standards Assessments  Practice Test Questions

The purpose of these practice test materials is to orient teachers and
students to the types of questions on paper-based FSA tests. By using these
materials, students will become familiar with the types of items and response
formats they may see on a paper-based test. The practice questions and
answers are not intended to demonstrate the length of the actual test, nor
should student responses be used as an indicator of student performance on
the actual test. The practice test is not intended to guide classroom
instruction.

Directions for Answering the
Mathematics Practice Test Questions

If you don’t know how to work a problem, ask your teacher to explain it
to you. Your teacher has the answers to the practice test questions.

You may need formulas and conversions to help you solve some of the
problems. You may refer to the Reference Sheets on pages 5-7 as often
as you like.

Use the space in your Mathematics Practice Test Questions booklet to do
your work.



All trademarks and trade names found in this publication are the property of
their respective owners and are not associated with the publishers of this
publication.
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Directions for Completing the Response Grids

1. Work the problem and find an answer.
2. Write your answer in the answer boxes at the top of the grid.

e Write your answer with the first digit in the left answer box OR with
the last digit in the right answer box.

e Write only one digit or symbol in each answer box. Do NOT leave a
blank answer box in the middle of an answer.

e Be sure to write a decimal point, negative sign, or fraction bar in the
answer box if it is a part of the answer.

3. Fill in a bubble under each box in which you wrote your answer.

¢ Fill in one and ONLY one bubble for each answer box. Do NOT fill
in @ bubble under an unused answer box.

¢ Fill in each bubble by making a solid mark that completely fills
the circle.

e You MUST fill in the bubbles accurately to receive credit for
your answer.

Answer boxes
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percent to its decimal or fractional equivalent. Grid in the percent value

When a percent is required to answer a question, do NOT convert the
without the % symbol. Do the same with dollar amounts.
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Change the mixed number to an equivalent fraction, such as 5_3, or to an
equivalent decimal, such as 13.25. Do not try to fill in 13 l, as it would be

Do NOT write a mixed number, such as 13 l, in the answer boxes.
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read as 131 and would be counted wrong.
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Algebra 2 EOC FSA Mathematics Reference Sheet

Customary Conversions

1 foot = 12 inches

1 yard = 3 feet

1 mile = 5,280 feet
1 mile = 1,760 yards

1 cup = 8 fluid ounces
1 pint = 2 cups

1 quart = 2 pints

1 gallon = 4 quarts

1 pound = 16 ounces
1 ton = 2,000 pounds

Metric Conversions

1 meter = 100 centimeters
1 meter = 1000 millimeters
1 kilometer = 1000 meters

1 liter = 1000 milliliters

1 gram = 1000 milligrams
1 kilogram = 1000 grams

Time Conversions

1 minute = 60 seconds
1 hour = 60 minutes

1 day = 24 hours

1 year = 365 days

1 year = 52 weeks
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Algebra 2 EOC FSA Mathematics Reference Sheet

Formulas
- 2
x= 2 i\/sw, where a, b, and c are coefficients in an equation of the
a

formax>+ bx +c=0

| B loga
0gp a = logb
opposite
hypotenuse
adjacent
COSA® = ———
hypotenuse
opposite
tan A° = L
adjacent
P(A and B)
P(BIA) = —P(A)

P(A or B) = P(A) + P(B) - P(A and B)

X -
zZ= (=) , where 1 = mean and o = standard deviation
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Algebra 2 EOC FSA Mathematics Reference Sheet
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Session 1 FSA Algebra 2 Practice Test Questions

Use the space in this booklet to do your work. For multiple-choice
items, fill in one bubble for the correct answer. For editing task
choice items, matching items, and multiselect items, fill in the
bubbles for all of the correct answers. For items with response grids,
refer to the Directions for Completing the Response Grids on pages

3 and 4. If you change your answer, be sure to erase completely.
Calculators are NOT permitted for Session 1 of this practice test.

1. Match each complex expression with its value.

3|-4i|5+5i
3i(i + 2i°) ® ©
2i +i’(5i°=3i)| ® | ® ®
@E*+1)+1 || ® ®
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FSA Algebra 2 Practice Test Questions Session 1

2. Choose the correct word or phrase to fill in each blank. For each blank,
fill in the circle before the word or phrase that is correct.

Ethan was solving 2.71x> + 8.64 = 3.12.

Ethan’s first step resulted in 2.71x> = -5.52 because he applied
the .

® addition property of equality
substitution property
© multiplicative property of equality

Ethan should then .

® find the cube root
use the multiplicative property of equality
© use the distributive property
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Session 1

FSA Algebra 2 Practice Test Questions

3. The table shows information about 10 students in Mrs. McKeon'’s calculus

class.
Name Gender I'::Ir;;h
Alexa Female Yes
Carlos Male Yes
Keisha Female Yes
Kumiko Female No
Lisette Female No
Michael Male Yes
Paolo Male No
Radha Female Yes
Thomas Male No
Xavier Male Yes

Mrs. McKeon randomly picks two students to present a homework

problem. She defines two events as shown.

e Event E: A male and a female are selected.

e Event F: Both of the students are in the math club.

Select all the sets of students that are in the complement of the union of

events E and F.

® ®

Keisha and Kumiko
Radha and Thomas
Carlos and Michael

Kumiko and Lisette

@O ® @ O

Paolo and Xavier

Page 12

Lisette and Thomas
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FSA Algebra 2 Practice Test Questions Session 1

4. Jared is opening several ice cream stores. The walls of the stores can be
yellow or blue. He designs an experimental study to determine if the
color of the walls affects how much ice cream people eat.

Jared finds 164 volunteers. He randomly assigns half of them to a room
with yellow walls and lets them eat as much chocolate ice cream as they
want for one hour. He assigns the other half to a room with blue walls
and lets them eat as much vanilla ice cream as they want for one hour.

Jared records the total amount of ice cream eaten in each room.

What is one flaw in Jared’s study?

There are too many volunteers.

® ®

The room assignments were random.

The groups had different flavors of ice cream.

@ ©

The groups did not have different humbers of volunteers.
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Session 1 FSA Algebra 2 Practice Test Questions

This is the end of Session 1.
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Session 2 FSA Algebra 2 Practice Test Questions

Use the space in this booklet to do your work. For multiple-choice
items, fill in one bubble for the correct answer. For editing task
choice items, matching items, and multiselect items, fill in the
bubbles for all of the correct answers. For items with response grids,
refer to the Directions for Completing the Response Grids on pages

3 and 4. If you change your answer, be sure to erase completely.
Scientific calculators may be used for Session 2 of this practice test.

5. A coffee machine makes one cup of coffee at a time. The amount of
coffee the machine makes can be selected before the coffee is made.
Jerry selects the coffee machine’s 14.5-ounce option for his 16-ounce
cup. The amount of coffee, in ounces, in his cup at time x is given by the
function C (x) = -0.4x° + 5.06x, where x is in minutes.

What is the largest domain for which C (x) models the amount of coffee
in a cup?

0<x=<44
0<x=<8.25
0<x=<14.5
0<x<16

@ @ ® ®
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FSA Algebra 2 Practice Test Questions Session 2

6. The number of Salmonella bacteria, y, in a sample after M minutes can
be found using the equation shown.

20,
y =1,200(2¢°

To the nearest tenth of a minute, how many minutes will it take for the
sample to have 100,000 bacteria?

©@EOPOOEE®EOOO®
@EPOPOOE®EOEVO®
©@EOPOOEE®EOOO®
©@EOPOO®E®EOOO®
@EPQEP®®EE®OEIVO®
P@EPOPOOEEEOEO| ®

CICICICICICICICICICICIMIO,
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Session 2 FSA Algebra 2 Practice Test Questions

7. Mike creates a design for a square kitchen floor. Each tile measures
1 foot square. An example of the design is shown.

Iedge

Mike found that the expression 4n + 2n° — 2n would give the total number
of edges for a design of any size, where n is the length, in feet, of one
side of the design.

Select an expression and an explanation to match the meaning of the
value the expression represents.

Expression Explanation
® n ® area of the design
2n perimeter of the design
) number of edges in one row
© 2n?-2n © of the design
® 4n+2n? number of edges inside the

design
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FSA Algebra 2 Practice Test Questions Session 2

8. Amanda bought a new car for $17,850. Her new car will lose 11% of its
value the moment she drives the car off the car dealership’s lot. Over

the
five

next five years, Amanda’s car will depreciate 20.5% each year. After
years, her car will hold its value at 27% of its original cost.

Select the appropriate definition and domain for the variable x for the
equation that models the value of Amanda’s car, C. Then, select the
correct equation.

A.

C.

Page 19

Select a definition for the variable x.
® x is the number of years since Amanda’s car left the car
dealership’s lot.

x is the number of years since the value of Amanda’s car reached
20.5% of its original cost.

© x is the number of years Amanda’s car was at 27% of its original
cost.

. Select the domain that best fits the situation.

® all real numbers
0<x<5
© x=0

Select the equation that can be used to model the value of Amanda’s car.
® C=17,850(1-0.585)"

C=15,886.5(1 —0.205)"

© C=6,604(1-0.27)"
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Session 2 FSA Algebra 2 Practice Test Questions

9. The mean population of the counties in Florida is 289,294 and the
standard deviation is 461,176. It can be assumed that the population is
approximately normally distributed.

What percentage of the population of all counties is within one standard
deviation of the mean?

©@EOPO®E®EOOV |®
©@EOPO®O®EBOOVO®
@EPOPOOE®EOEVO®
©@EOPO®O®EBOOVOO®
@EOPO®E®EOOVOO®
@EPOP®®EE®OEIVIO®
OICISICICICIOICICIC/OIMIO)
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FSA Algebra 2 Practice Test Questions Session 2

10. Solve f(x) = g(x), to the nearest tenth, where f(x) =e*-2.4 and g(x)

is shown.
y
* A
6
\ 9(x)
4 f
\ I/
< > X
-6 -4 -2 0 2 4 6
o >
-2
4
-6
Y
ClClClClele]S;
QDD
OIOIOIOIOIBOIG
©|©@|@|@|©@|@|©
OO|O|O|O|®|®
@@|0|0|@|@|@
OI®I®|I®|I®|®|®
@OEOOO®®
®IB®|I®|®|®|®|®
®|®|®|®|®|®|®
0)[0][0]0]0]0)©]
®E|B®|B®|B®|®|®
O®|®|0|0|®|®|®
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Session 2 FSA Algebra 2 Practice Test Questions

11. A wheel of Matthew’s bicycle has a radius of 1 foot. He uses chalk to create
a marking on the outer edge of the wheel. Matthew rides his bicycle at a
constant speed so that the wheel rotates 3 times every second.

Which function, h(t), represents the height, in feet, of the marking from
the ground with respect to time, ¢, in seconds?

® h(t)=sin

© h(t)=sin(6nt)
©® h(t)=sin(6ént) +1
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FSA Algebra 2 Practice Test Questions Session 2

This is the end of Session 2.
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